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WSHE N4 FE IS8 S A7

S - FE - SRI(BH) - AIRAY - BSS LD Sl B2
ADIE 22 MUiDl=s e 93,476 83,897 9,579
101 21Z44| 81,476 71,897 9,579
04 J12tHIZ2E2 S 81,476 71,897 9,579
OEZ2e| RS 81,476
oJlesg 66,8002 * 196 *5H 65,464
oRrEsdIE2rd 6,012
0P EFIHI 1,000
0E8E S 9,000
207 AN 12,000 12,000 0
03 Al 2| 12,000 12,000 0
OHFANH2E 12,000
oEd=clstatd | XHiHHI 4,000
oE&ze| A+ 4,000
oAZENEZFY 4,000
HASEHAR 2 35,924 35,924 0
201 B2 33,924 33,924 0
01 AFR2eltl 7,231 7,231 0
Oger =8| 3,831
OAIEHDIZ HMel, =40 Xt 3,400
02 2234l 26,693 26,693 0
O35 & HAl 12,000
OHA=H| 5,693
OAIEZHIs X 9,000
301 LBtBEF 2,000 2,000 0
12 JIEIE A= 2,000 2,000 0
OSXAIEARAY =3 ZHUXF 2,000
LSXNS BERM U RN 2T 2Z 75,982 72,125 3,857
101 21244 64,982 61,125 3,857
04 JIRHMIZ2=2 SR 64,982 61,125 3,857
OASH=E 53 4 Ag 2& 22l 64,982
oJlesg 66,8002 * 196 +4H 52,372
= 4,810
oHEFIHI 800
oEEE S 7,000
207 AN 11,000 11,000 0
03 Al A | 11,000 11,000 0
Og=& A —¢ 11,000
o=ZE 2ted MM | 3,000
0REXAEE L&2L| XLl 3,000
o FM=EH FA AL 5,000
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A s)|Ed H2ei
ME: DRI ASMA U HENE HANASH S UL/ 5 - &
CIol: MEXNZ ALQ HE 128 84 o7 (= RE2)
SA -3 - S(3H) - MRAY - BES Ol kX %g% Hns2
NSESSESI|2HL(OISE 1701 60,000 60,000 0
z 60,000

101 Q1244 41,477 39,005 2,472
z 41,477

SIFEVEEI=EES 41,477 39,005 2,472
OJIZ2 D70 MUK He Bx o 41,477
0ll=3 25,652
66,80020x1922 %2 | 25,652
oS XL &2 9,018
z 9,018
oREEY2ZLY 3,207
= 3,207
0HEEII 400
z 400
o28E = 3,200
z 3,200

201 LBH29H 6,000 6,000 0
= 6,000

01 AF22t21H] 3,000 3,000 0
OJIZE D0t AIEAHTPAIY Z=X 3,000
z 3,000

02 SB29H| 3,000 3,000 0
OJIZE D0t AIEAHTPAIY Z=X 3,000
z 3,000

202 01t 3,023 3,99 AG72
z 3,023

01 =LHOIH] 3,023 3,9% NO72
OBINAIE ZHEBR| S Al =8 3,023
= 3,023

206 THEH 2,000 2,000 0
z 2,000

01 THEH 2,000 2,000 0
OJI2E8 DT0H AIESPALY =X 2,000
z 2,000

207 HRIHLH 7,500 9,000 A1,500
= 7,500

03 AIE&ei 7,500 9,000 A1,500
OJIZE D0t AIEAHTPAIY ZX 7,500
z 7,500

RIEZ DERA MAI 349,698 357,866 A8,168
= 70,472
[ 279,226

47 MAUET (IS B HUsY o 60,436 60,436 0
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SA:

sele® M2
B DSL N2MM U AABY AL (SAHLL/ 5 - SE)

o9l LSS SR 2K (EI9l: &2
SA - B - () - IRAY - BaS 0 st Sl HIDE2
2gsteet et @ 2R 1,252,000 1,376,000 A124,000
gt atdRd 2AXA 1,252,000 1,376,000 A124,000
306 8= 1,252,000 1,376,000 A124,000
01 £ 1,252,000 1,376,000 A124,000

O(MH) B 51017 2T 1,252,000
HH2HBY| (S| H2AT) (OIEHIIEN 795,850 781,218 14,632
olzi2 gyl 749,682 740,583 9,009
QI 2A| 749,682 740,583 9,099
101 21Z44| 749,682 740,583 9,099
03 SIIHAZZ A2 749,682 740,583 9,099
OMSEZR & ANFATRBRR 2124H| 749,682
oJlZ2s 585,219
SIS 2,285,000 * 188 * 128l 493,560
<LPAZ 2,569,120 = 2% * 123 61,659
0L BHEAG 9,205
<IpEZ 673,520& = 12& 8,083
<LpEZ 46,7202 * 2% +12% 1,122
o Xt 24,715
<IpEZ 81,3423 » 18 * 156 21,963
<Lp&Z 91,715& » 29 = 15 2,752
0P EFIHI 55,522
<Ip&Z
2,285,000& * 0.6 = 23| » 18H 49,356
<LpEZ
2,569,120& * 0.6 * 23] * 2H 6,166
OESESf E=) 33,120
DpHZ 140,000+ 122+ 18% 30,240
<LpAZ 120,000&*12&+2H 2,880
oS 15,600
-BH < Xt 40,0003 ~ 16% = 128 7,680
SRS 20,0002 * 13% * 123 3,120
JIE 60,0002 * 58 * 122 3,600
IHt= 100,000 = 1& * 123 1,200
oRIgl=E 50,0002 x5 *12E 3,000
oAtHSHI B = 469,0802 * 5% = 43| 9,382
SRR 3,661
<Jp HzZ 18 » 15,2523 *240A12¢ 3,661
05222 29,658
<Jp &Z
15,2523 = 189 = 123] = 8AI2} 26,356
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FAN =
|

n HE% GHeUS Go(ERHYAN/EE - BE
ool DEH £ poPiE ol (Sl &)
S - FH - B9(SH) - MIRAY - BES ol ¢4t 2as B2
s2)|=2 SE=sYHAL 2,341,863 2,746,659 AN404,79%6
ay 215,000
| 19,200
& 2,107,663
e oMz AE AR (SN =Y - 55) 1,378,770 1,827,808 A449,038
2 215,000
| 19,200
T 1,144,570
Ed E 22| AP 691,777 1,163,241 AAT1,464
= 135,000
| 19,200
= 537,577
Ng MR A 29 11,700 1,700 0
207 AR 11,700 11,700 0
03 A& 72| 11,700 11,700 0
OtlzZ4& A 5,100
OEAN 2HS Al 5,000
OsYs4 248 AlS 1,600
SEE KE s 11,280 11,280 0
203 R F&H| 1,800 1,800 0
03 AIMFEAHRF=EIH| 1,800 1,800 0
OBEBAT Y= 1,800
206 T2 6.480 6.480 0
IR 6.480 6.480 0
OsETN Z2& M= 3,600
OPTE BN, 58 7Y 2,880
207 AN 3,000 3,000 0
03 Al 12| 3,000 3,000 0
OZZANE M= 3,000
P =sY Jl=g 25,365 39,845 14,480
101 2124d| 4,200 4,226 A26
04 JIZINZ2Z2XRSE S 4,200 4,226 A26
OREH=Y JH 4,200
S 63,7201+ 12440 2,749
CEEIPeS 344
0B EEIH| 200
022 S %07
201 LEt23y| 8,465 35,619 AN27,154
01 At222ld] 8,465 35,619 AN27,154
Opag| 8,465
202 o4l 4,500 0 4,500
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SA:

n. HE% GHAS G BRI e - 5E)
ciel: @y £ 22lE o (sl m)
SA - B - SI(S) - HTAR - BYS ol ¢4t 2as B2

01 =LHOYI 4,500 0 4,500
O= | 4,500

206 =6l 1,800 0 1,800

01 =4l 1,800 0 1,800
OrEtE=e ANEE Mz P2 1,800

207 AR 6,400 0 6,400

03 A& 32| 6,400 0 6,400
OHEB=Y BHE A U £XDIT S 7Y 6,400

TEE e A 29 70,832 72,677 A1,845

201 Lereg 66,332 63.627 £2.0%

01 AtR2t2ld] 5,855 8,150 N2,295
Ogsrgt| 2743
OfI& =] 1,000
Oul=H| 1,019
O=&t| 1,093

02 3323H| 60,477 60,477 0
022232 2 WA 44,051
Od =H| 3,593
OAIZEHIRXIHI 12,833

202 o4l 4,500 4,050 450

01 =UHOHI 4,500 4,050 450
S8 ol 4,500

ANEES & ZHIEZ 264,200 236,739 27,461

401 AIEBIL20HY] 237,600 200,000 37,600

01 Al&HI 237,600 200,000 37,600
ORE2E ASM BIIEA SIZA 50,000
OMPIAZS MDIEA DI U WATH DA 140,600
OS0IAIS LR AL 2lRg2 2A 47,000

405 KHoatFSH| 26,600 36,739 210,139

01 ML SEF S| 26,600 36,739 210,139
ORITA OF o BAWM ST T 11,000
OZASAATD UDE HRFE T 15,600

Nesg AL NEsH(AEA) 270,000 177,000 93,000
= 135,000
c 135,000
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A s|EY B SAAT
Hu: FEY OESAS HT(SEHYM/5Y - SE)
ool WBY EY m2DlE o (Sh9): &)
2 5 SIE
S - E - SRI(SH) - AIRAR - LS o8y SR HimE=T
405 RIS 270,000 177,000 93,000
= 135,000
= 135,000
01 LSS 270,000 177,000 93,000
0K & HHES 9is Z| 7 74,000
2 37,000
= 37,000
ODIIRENY ASIHE I8t ARFY| Y 160,000
2 80,000
= 80,000
OsUR80ME 22| ¥ 2ZE8 Y| 7Y 36,000
= 18,000
= 18,000
IEEL PEE NRAY 38,400 0 38,400
p] 19,200
= 19,200
101 21218 15,400 0 15,400
p] 7,700
< 7,700
USIEIEEDU=T-ES 15,400 0 15,400
ONEEL PHE SH9W 15,400
07123 13,056, 0002 13,056
p] 6,528
= 6,528
0RIEULL 768
p 384
= 384
0B EIH| 400
p 200
= 200
0PER S 1,176
p 588
= 588
405 RIS 23,000 0 23,000
p] 11,500
= 11,500
01 HAIASZFHEY| 23,000 0 23,000
O==g =™z 23,000
p] 11,500
= 11,500
HoHE ZYH JIE ML o1 109,369 101,406 7,963
HHE AT 29 15,000 15,000 0
207 1oL 15,000 15,000 0

- 1075 -




PN sE)I=sd SEsYH20
M ZEH Nz iE HR(sHYs =Y - =&)
&Hel: HolE SEM Jl= HE A+ (el &)
S - B SR(3) - HRAY - BES 0l ko Sl blmz2
03 Al 21| 15,000 15,000 0
OOl A AHE Al 2,000
Osolda &AM =X+ 2,000
FAEXR0IE A2 25 7 3,000
O=FY HolHA IIE ¢ 5,000
OttoledA alctkz &l 2 3,000
s ESEEMAT 2L 34,169 32,843 1,326
201 LB | 28,769 27,983 786
01 AFS2ell 7,862 7,076 786
Oget=+=2t| 7,862
02 E3=2ZH| 20,907 20,907 0
03223 & HAl 6,966
OH =l 6,246
OAIEZHIs X 7,695
202 (44| 5,400 4,860 540
01 =4I 5,400 4,860 540
OYRF2I0| 5,400
SHoll 2&d Hols H 10,600 8,000 2,600
207 AN 10,600 8,000 2,600
03 Al A 10,600 8,000 2,600
Ogelagal Alef 2 6,600
Ogelaga =X+ 2 A2 23 4,000
SollE TEd LHDI= g 13,000 13,000 0
207 AN 13,000 13,000 0
03 Al 4| 13,000 13,000 0
Odfisg+4a =S| # e 7Y 5,000
OoffsH74a Al & =XD|7 7Y 8,000
URASEANE AS-2A0H AIE 36,600 32,563 4,037
101 Q1244 17,000 17,963 2963
04 J12tHI2E2 S ES 17,000 17,963 2963
OsAXASEANE H222 17,000
odlE2g 68,7202 190 ~1H 13,057
0RBEULY 275
=] 1,031
0HEFOHI 200
o2EE = 2,437
201 B2 5,000 0 5,000
01 AHR2teld| 5,000 0 5,000
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SH: Se)zd #FSNRY
HE: FHY NSNS AR(SHYSN/SY - 5E)
ool HGiE ZEYM Ole i o GECEED
RA - EHH - S(3H) - HIRAY - BAS 0 e Sl HIDS2
Ogs=gt] 5,000
202 (44| 5,600 5,600 0
01 SLHOHI 5,600 5,600 0
OBXIZE HolE A U SOAIE 28 Ol 5,600
207 AN 9,000 9,000 0
03 Al 2| 9,000 9,000 0
OSAXASZAIE 4R 2 4,000
Ox&z2e| ABE 72 5,000
REIE I e 361,404 349,317 12,087
IS & 2 N e 64,597 41,718 22,879
101 21218 54,000 31,121 22,879
04 JItMIZ2E2 XS 2+ 54,000 31,121 22,879
OYx A2l 54,000
oJlEes 68,7202 *1752*3H 36,078
0R2RYLY 1,650
EESE DT 600
028z S 15,672
206 M=4| 10,597 10,597 0
01 =4l 10,597 10,597 0
Oaz=23| 2 1,33
ox=gel 72 1,070
OolBAIZ BE P 4,739
OLIBAE g 2 378
Ooi%g W2 2 648
OsEotx= A A7 1,296
ONEE B72F 7Y 1,134
STATN Mo U 23 106,431 125,075 A18,644
101 1244 87,550 106, 194 218,644
04 JIZENI2 2R SE 4 87,550 106, 194 218,644
OSTF0IN Mt o 23 87,550
oJlesg 68,7202 150 *7H 72,156
oR2RYLY 3,849
oHEFIHI 1,400
o£EE S 10,145
206 T2 H| 18,881 18,881 0
01 Mzt 18,861 18,861 0
OME =9 2 6,506
O&d Hlz 2e 7,308
OH=UM AR 28 2 2,772
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2N s)led SEsdoR
I MEY OFSAS AR (S5 - 5F)
ol RE2E Jls o (e &)
£A - - 2(303) - HRA - BES Ofl o Oﬁif'& HDZ2
SEEEIINERET 810
Osl? 7 1,485
RE2E g7 28X 62,578 60,653 1,925
201 23| 56,778 55,433 1,345
01 A2l 13,442 12,097 1,345
Oger2H| 4,448
osgsg 4,402
Onl=| 1,490
o3a| 1,946
Ogxt= 1,158
02 S=5=gH| 43,336 43,336 0
02222 < A 11,688
oglzH| 23,983
OAl2EHIFAI| 5,192
Oxtree| 2.473
202 04 5,800 5,220 580
01 =LA 5,800 5,220 580
OR22EAY Y2FT Ot 5,800
N2 Ms X AME 2 127,798 121,871 5,927
101 el24H| 17,000 13,153 3,847
04 JIZN22NSE 17,000 13,153 3,847
OXl% 2EX2 A5t AR 17,000
== 68,7202 * 1752+ 1H 12,026
oRSFL+Y 550
O EEIIH| 200
oF8=E S 4,224
201 82| 55,798 54,218 1,580
01 A2l 15,798 14,218 1,580
Oger2H| 15,798
02 S=5=gH| 40,000 40,000 0
OZ28k= E HAl 40,000
202 O 5,000 4,500 500
01 2LHOHI 5,000 4,500 500
OXH2BAY Y2 5,000
207 A-RE| 50,000 50,000 0
03 Alg et 50,000 50,000 0
OREN AP Al Y EXD|7 25,000
OJlsee ZAIB Al Y EXPD|7 25,000
HESS 0|8 LRI =g Jls &+ 216,220 213,844 2,376
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FAN =
|

H:

Ciol: MEIDE 0|2 DEIIIK =9 D& o (crel: el
2 - B BI(H) - HZAY - BAS of o 2as HIDS2
04 JItMZ22XSES 31,960 31,960 0
OHDHA EZS4 U Yol 2H 12| 31,960
olleag 68,720 x 196 L 2 26,939
Fag 26,939
oSoEULY 825
g 825
o EEIIH| 400
rag 400
oEF8E = 3,796
2 3,79
201 LetEAH| 8,000 8,000 0
nag 8,000
01 AFR22t2(H] 6,000 6,000 0
OETHA =84 9 9l 2T =5 6,000
Fag 6,000
02 22294| 2,000 2,000 0
OHTHA =84 U 9l LT = 2,000
Fag 2,000
202 04| 5,040 5,040 0
nag 5,040
01 2LHOY] 5,040 5,040 0
OBIASIE BEAZS AE 2 I8 &A 5,040
nag 5,040
207 S| 3,000 3,000 0
Fag 35,000
03 Al 2| 35,000 35,000 0
OAEITH| 35,000
oHA ST SEE A & Mz 7 20,000
Fag 20,000
oHA Yol AlEE Al & s 72 15,000
nag 15,000
SES AN (=205 SA=oiT) (e JIE 963,093 918851 44,242
A2 908,935 863,618 45,317
olA2AH| 908,935 863,618 45,317
101 Q12| 908,935 863,618 45,317
03 2I|He*=22 X2+ 908,935 863,618 45,317
O ABOIREE (222) 784,875
olleag 2,285,000& x22H « 128 603,240
=288 E 46, 700&x20H 128 11,208
oX RA G 140,000 222« 12& 36,960
oSIBiAt 50,000 2% 1424+ 122 8,400
o= 10,080
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2N 5SSzl
M HAHRAAH|(=YI|=R SF=HH72D(JIEHIIEH
el =23 (2 &)
S - BB - S9I(3) - HIRAR - BAS e Sl HimE=E]
-BH< K+ 40,0003 «12H+12& 5,760
22 20,0003 x5 x12& 1,200
KHA (S ) 20,0003 x7Ex12& 1,680
KA (S M 60,0002 «2H*122 1,440
0 ESIHI 2,742,000&+22H 60,324
ogg2Z2=H 15,4283 «BAI2x22H+7L 19,008
o&EZZ2H 15,4282 15A1 2H22H 5,092
o Xt 82,281 3«22H 12 21,723
olll =H| 200,000&+9H 1,800
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S - M. S2I(B]H) - HIRAIY - BES Ofl bk Sl HRS2
OEOIEl 84 o APA 28 10,012
203 HRF=4b| 900 900 0
03 AR HRFEIH| 900 900 0
Osislginey Yexw 900
206 =4I 15,170 15,170 0
01 JHZHI 15,170 15,170 0
OSBISHES 22 MAME 7Y 2,320
OZSSD MBHE W27 5,250
OsHINYLHE HAEE HETL 5,000
Osiglsizsl HAES 2,600
301 LEtEd S 4,390 4,600 2210
09 SHAFAHIXIZEZ 1,890 2,100 A210
OSMlMe Bolgl B4 B 1,890
2 JIEHB A2 2,500 2,500 0
OO0, 23 S BNASABSI 24 2,500
S A2ZE JIsHY 10,000 10,000 0
207 AN 10,000 10,000 0
03 Al 2| 10,000 10,000 0
Ctlg € M+ 5,000
OLED =ESs 40|+ 7 3,000
Ogslg 228 Mz+ 1,000
OstzY 1,000
HE2HAHI(SSII=R SH3HRA)(OIEHIIE 739,196 684,951 54,245
ol 2A| 712,086 657,342 54,744
ol 2 A 712,086 657,342 54,744
101 Q24| 712,086 657,342 54,744
03 PIFIENZS 712,086 657,342 54,744
OAEHT 2X(19Y) 671,705
oJlEes 2,211, 110&x19%8~ 123 504,134
o Xt==E 77,957 3*19H 17 25,181
NPT LY 140, 00021192+ 122 31,920
0HEFOHI 1,326,666 * 19 *23] 50,414
PIES 6,720
<= Xt 40,0003 x10F+ 122 4,800
= OJE 60,0002+22¢+ 122 1,440
-J|EF 20,0002 «2H 122 480
oHEA2ZH 39,994,848& 39,995
olll=Hl 200,000&*19Y 3,800
o0t 50,0002 *63|x19Y 5,700
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M
R
(=l

chel:

S - BB - S9I(3) - HIRAR - BAS o8y Sl HimE==l
oRIgl=E 50,000 x2E~12& 1,200
023 B& =% 36,67021x6H*12& 2,641
OAMEZHISRIA (1 40,381
oJleg 2,513, 170314122 30,159
o Xt 89,8732 x1&x16 1,438
oAREH+H 120,000 1H 122 1,440
0P EFIHI 1,507,902@ *1E*23] 3,016
o= JIEF 20,0003 x1&x12& 240
oflEsd 50,0003+ 1+ 12& 600
oHEAZZH 2,426,5443 2,427
olll=Hl 200,000& 200
o0itl 50,0003 1 +63] 300
o2dad B8 ¢ 46, 720318+ 128 561
=2k 27,110 27,609 YAVIee]
Jl=&Hl 27,110 27,609 YAVIee]
201 B2 18,098 18,597 YAVIee]
01 AFR2eltl 16,608 17,107 YAVIee]
Oggt==2t| 13,052
O=2g=g 3,556
02 23234l 1,490 1,490 0
03223 & Al 1,490
202 Odd| 4,212 4,212 0
01 =LHOAYI 4,212 4,212 0
O=LH0YI 4,212
203 HRF4| 4,800 4,800 0
04 REXM2SEHRFAHI 4,800 4,800 0
Ostgl=A 29 4,800
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SA:

X ZH -
o=

seJl=3 Al0IEHA
ADF Ol & THHHD = N (St s - S&)

DoAlgae] 24

z 5 S[E]
S - B SR(3) - HRAY - BES o8y SR blmz2
s2D|= 3 AH0ISHPA 1,205,103 1,765,160 A560,057
s 112,000
T 1,093, 103
ARZE 018 & THHHD | Y (sEoidil =Y - =&) 797,545 1,369,261 Ab71,716
s 112,000
L= 685,545
Agzte| 249 563,310 1,101,778 A\b38,468
s 112,000
= 451,310
AA=sHARI Bt D E 3t 224,000 36,300 187,700
s 112,000
= 112,000
405 XHAHESHI 224,000 36,300 187,700
s 112,000
= 112,000
01 AL SEF = 224,000 36,300 187,700
OAtl RIDXIgret A1EH] 2RAXI| 2 30,000
s 15,000
= 15,000
OALlt SIDXIEe HEH| 00122 2C0IE 2
15 7+ 20,000
s 10,000
= 10,000
OAtlt 2 K& ZHl EHH 1Y 70,000
s 35,000
= 35,000
OAtt 512 XNIE ZHl EHFEE A
- 14,000
s 7,000
= 7,000
OAIIIHY d=st Jjs HEH EAHREE
S 2 APDIA 90,000
Fas 45,000
L= 45,000
AL HED Alg2el 22 339,310 1,065,478 AT726,168
101 21244 17,000 13,118 3,882
04 JItHI2Z2 S 2+ 17,000 13,118 3,882
OAMOIEATR L HARZE| 29 17,000
oJlesg 68,7202 1E+210 14,432
= 516
Xt RERI==E 207
oHEFIHI 200
o2EE S 1,645
201 B2 42,760 52,360 29,600
02 23234l 42,760 52,360 29,600
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SN SIS MBOIBITL
I AD 012 2 THHHDIE N (sS4 5Y - 5&)
el Az 2Y (£ &2
RA - EHH - S(3H) - HIRAY - BAS 0 e Sl HIDS2

SEEEERIN 30,000
O =] 2,000
OAl&ZHIR Y 9,000
OXteeet] 1,760

401 AlZHIZ O] 279,550 1,000,000 720,450

01 Al&H| 279,550 1,000,000 720,450
O=3 U Z2S YLTA 184,550
O=2 L 3DS 52S N 2N 80,000
OS7E HILFIRA HILDH & B4 15,000

b 01 Jls HE & ISE At 234,235 267,483 A33,248

At S8 54 & RO &4 86,300 112,534 ND26,234

202 O 6,300 6,300 0

01 =LHOYI 6,300 6,300 0
OMIES S L IR B4 o7 22 6.300

206 TH=H| 10,000 10,000 0

01 THEH] 10,000 10,000 0
Ox&E =AM 2,000
O&&H| 3,000
O+5 2 BB 4% 5,000

207 e 70,000 70,000 0

03 Al 70,000 70,000 0
OAEle 02 ¥ 292 7 10,000
OANERE 478 17,000
OAEEY ST 16,000
OfEa 29 ¢ =4 M= 8,000
OAlE=8 MZdl(blE, X S) 6,000
OAIZZZE EH|I7Y 14,000

DSE AR THHHO 1= OHYY 53,500 41,234 12,266

101 el24d| 34,000 26,234 7,766

04 DI N22 NS 2= 34,000 26,234 7,766
OLSFE At MHEHD = JHE HRBX 34,000
== 68, 72032 *210 28,863
CEEE LRSS 1,081
HHRIRIY 413
SEEE ST 400
o2EE S 3,293

207 A-HE| 19,500 15,000 4,500

03 Alg 4| 19,500 15,000 4,500
ONEa 29 24 HEH| 3,000
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SA:

s2l=d ALIOIESH A
Hu: A 012 2 THHDIZ P (SEHYSA/ 5 - 5E)
R AL 018 Jls HE & UFE dat (el EJ)
RA - B S9(3) - KIRAY - BaS 0 e Sl HIDS2
201 k2| 27,355 22,355 5,000
01 A2l 19,355 19,355 0
Ogit=ZH| 7,907
Ogxt= 6,048
OZ A AL NS5 =Y 5,400
02 S=5=2gH| 3,000 3,000 0
Og7s AIE3Hl =X 2= 3,000
03 A2 5,000 0 5,000
OAEEE OS] 3 & MOILE €et~SH| 5,000
oAIOILE WITH RIZ 4,500
o= ME 500
202 O 6,300 6,300 0
01 2LHOIHI 6,300 6,300 0
o2& &3] & MIOILE &4 6,300
203 ge=&| 900 900 0
03 Al HR =AY 900 900 0
OAH0IE8AR HRFA 900
301 2= 1,260 1,400 A140
09 ALBIXIE S 1,260 1,400 A140
O&ltel & BGANENE e HHX 243 1,260
HE2AAH(SSII=J ML0IEHTA)(DIEHIIE 407,558 395,899 11,659
el 23| 391,388 379,563 11,825
lE23H| 391,388 379,563 11,825
101 e124d| 391,388 379,563 11,825
03 RIHAZ2 A2+ 391,388 379,563 11,825
OAgHTEx & Ald2te] 391,388
= 292,479
<IpAz 2,137, 2203912042 230,820
<LpAZ 2,569, 12032812043 61,659
032+ E 2,203
<IpE= 45,0253 x2F+ 128 1,081
<LpZT 46,720 *x2F* 122 1,122
oA R =E 12,177
<IpAZ 75,8482+0E 13 8,875
<LpAZ 91,7153 =2 x18¢ 3,302
oXF&AE 18,000,000& 18,000
otEE 10,320
HH A 40,0002 «8E* 12 3,840
JIE 540,000+ 122 6,480
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SH: IS8 AB0ISHTA
o BHSAAH|(SYIISY ADOIB L) (IEHIIEH
Chel: ol (el ale)
S - B G9(3) - HRARY - BLS Of bk Sl HDE2
oFlg+dg 50,0003 *5Z* 12012 3,000
oAIZtRIZR4E 3,592
<IpA= 14, 2223920 Al 2t 2,560
<LpAE 17,1963 x2&*30A1 2t 1,032
oFgIRE 12,992
<IpET 14,2223x9H*8AI2Hx10L 10,240
<LpAT 17,1963 x2+BA| 2H+ 10 2,752
OB EEIIH| 29,248
<IOpAZ 2,137,2203*0.6+x9EF+23] 23,082
<LpAZ 2,569, 120&*0.6x2F*23] 6,166
oAtA=H| 469,080 x1H*42] 1,877
oLl =H| 200,000+ 11H 2,200
ol 50,000&*11E+62] 3,300
Jl=238H| 16,170 16,336 A166
=34l 16,170 16,336 A166
201 k2| 8,790 8,956 A166
01 A2l 7,790 7,956 A166
Oget4gH| 1,430
orl=t| 600
oz 5,760
02 3324l 1,000 1,000 0
OZ222 % MM S 1,000
202 O 3,780 3,780 0
01 =LHOH| 3.780 3.780 0
SNEELLEE 3,780
203 ge=&| 3,600 3,600 0
04 FAESHR=AHI 3,600 3,600 0
OAlZIoIZBe R4 2 3,600

- 1117 -




[l
i’
oF
uJ

2 BN TA
Ao THERDIZ H(

A0

=
=
=)
=
=

— |~ D I~ |~ I~ o O o O o O © |©O [©
3 818183 S5 588
" o @ o |~ |— |— — |= |= < | |3
N |22 4 < |« J 1< |<
_Aﬂ_uﬂ_v q|<
o
O | s N~ |— | [0 o O o 1O © |© [©
58 |88 EE I BE 558 g8 588
gz |g|5|2 |2 SN R 0 | ¢ |8 %
uiled
RS
< | © o o O 0%002 o O O O O O IO O o © M M O I | O O O O 9O | o o o o
Sl &gl S35 T8B oYY IIssBcgsssS|slglgs 3 NS |SIE3s SIS |sls S
D | = O |9 |= |—= — 10 O L AN [N AN O O O O I O Al (M~ I M~ — ™ [QVEN Yo RN 7o BN Vo N Vo NN Vo N Ie ) BN B N .S .S
z
2
=
. N Kf B0
K Kq mw_ iy ,.IHE
! : B 2 g
H0 W oF) = [ orJ
B L WS = ~ S
. pd N ~ n0 <0 = ~~
a1 F iy E LIS i r 8 _
= 50 Y =z © G oo of O
oF © il 2 % % g = ok < < 4
= 0 N 20 0o — ®I|= gl oK oK K
X H = 2 = 5 &I~ = o
Rl o] L= ~ = if
. — == P ) n_.D_U_HT_
= o = ol i - u 38 ook | «
= | 7 2 g = O R T x e & o
gl e | B pED OB
ok | = £ = o U< = D = of =
& iE |5 e wopd o W Wi |z ™ Aok o WO om0 BRIy WO
U )| = S e O T < | |® =11 i - 1 S I R A ol 2
S 2 L B O o A S C [ B I O 1 O L o L T (1 o) _|WoR
g [Blax (BT Ee-=FZFrmuEzEHFEBTEL NS EHN 2EONEE BT 0TS = w
x | =Xl I N I = S S T O I < O S S S S A 17 O I (S R O Y O N
. @;o i om0 | Ol8|< OO0 O|mlao|x O 3 |< OO0 Ol | |~ O
o BT - — S| — S| —
T [ e gle &8 RIS S |8 RS
| % 2 2 5
%z K| e i w
~ | ol
3 |8

- 1118 -



SN SIER ENIHARA
H: oL BESY U MHDIE HL(STohYal/se - 52
Ci9l: ofx ASE23 oip (E19l: &)
RA - EHH - S(3H) - HIRAY - BAS 0 e Sl HIDS2
oJlE2g 68,7202 170 +2H 23,365
oraEsd2YH 5,498
oFEEIH| 400
o2EE S 4,737
207 AN 5,000 5,000 0
03 Al 2| 5,000 5,000 0
OBZs4 Ix B2l Y AlRAIP2E 5,000
ABENSETNESHEH 23 138,000 122,513 15,487
101 Q1244 68,000 52,513 15,487
04 JIRHMI22 XS+ 68,000 52,513 15,487
OUASHSENRIHE 29 L HSE 22| 68,000
oJlEZg 68,7202 170 +4H 46,730
oraErdd2YH 12,370
oFEEIH| 800
o2EE S 8,100
201 B2 30,000 30,000 0
02 E3=2ZH| 30,000 30,000 0
02223 % A 5,000
SEEEET] 20,000
OAIEZHIs X 5,000
206 M=z 4| 10,000 10,000 0
01 JHZHI 10,000 10,000 0
OsalE Xt 3,000
OMAE THR(BA, IBY S) 7,000
207 AN 30,000 30,000 0
03 Al 21| 30,000 30,000 0
OZENZ2ME 29 IW(AE, Edo| S) 12,000
OEXt ZAE 222 5,000
OMEE ElHl, EAZHEHM S 6,000
OMSE 228 X 7,000
HENZSHS 2HAA 94,532 96,650 N2,118
201 B2 71,122 72,200 21,078
01 AHR2teld| 9,822 10,800 A978
OEIER=1] 5,810
ogxtz 4,012
02 E3=2ZH| 61,300 61,400 A100
02223 % A 22,300
@=L 16,000
OAIEZHIs X 17,000
OxtErett| 6,000
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SN
X‘IiH:
L_,|-0|:

S - FH - BI(E) - HIRAR - BaS LD Sl B2
202 Oid| 8,000 9,000 21,000
01 =4I 8,000 9,000 A 1,000
O%A=x7 AL 04| 8,000
203 HRF4| 900 900 0
03 AIHZ=RAHRFEIH| 900 900 0
OAZH=AHA HRFA 900
301 Et2d =S 2,800 3,000 A200
09 ALAHIXIRS 1,800 2,000 A200
O%otal & MOILE #A4X 2Ba3 1,800
12 JIEIE A= 1,000 1,000 0
OEXIANE 243 1,000
405 KHAEF SHI 11,710 11,550 160
01 XL SEF = 11,710 11,550 160
O=eAHEE=A) 200 HIS7Y 6,550
o H 2,000
oMIED| 3,450
o4 D] 1,100
OYRE IFH 7Y 5,160
OMHEDLIH 1,380
obIAaAEERH 3,780
HEXAAT JIgEY 35,000 244,000 A209,000
HAIEE 2= 35,000 30,000 5,000
401 AIEBIZ 0] 35,000 30,000 5,000
01 Al&HI 35,000 30,000 5,000
OASAAARN HE Y2 BE SA 35,000
HER2APH(SHI =R ASNAHATRAL)(DIEHIIE 207,044 198,188 8,856
QI 2A| 189,846 180,990 8,856
QIS 2A| 189,846 180,990 8,856
101 21244 189,846 180,990 8,856
03 RIIHAZZ2 R == 189,846 180,990 8,856
OANEdH7 Bx(59) 187,969
oJlEg 138,657
<2 2,260,360x4H+12& 108,498
<LP&IZ 2,513, 170x 1%+ 123 30,159
(olabNEa=y 6,150
<IpEZ2 80,005* 15 +x4H 4,801
<LB>ZEZ 89,873*15&x 14 1,349
HE SO 13,866
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SN Se)se UBNAATL
IE: BISHA|(SUIIEH FBTRITL)OIEYIIE
Cel: oI 2A|
S - FH - B3] - HIRA - BAS o4kt Sl
<IpEZ 2,260, 360%60%*4H +23| 10,850
<LpAZ 2,513, 170%60%+ 1 *23| 3,016
oAREHASTY 8,160
<IpE 140,000+48x 12 6,720
<LpAZ 120,000+ 18+ 123 1,440
ot EY 5,280
BH<> Kt 40,000x5Z* 123 2,400
M AHA 20,0003+ 123 720
SMAA 60,0003 *12& 2,160
oRE Y 50,000%1Z*12& 600
oAt 2R4+Y 4,613
<Ip&E 15,0023 x4 H*60A[ 2+ 3,601
<LpAZ 16,8512 1Z*60A[ 2+ 1,012
ogd2=2H 6,150
<Ip& 10,001 &*BAIZH4H* 10 1.5 4,801
<LB>&Z 11,234 3x8AI 218+ 10 +1.5 1,349
odI2EHE 1,993
<IpE 36,670R+3F 128 1,321
<Ip&Z 9,170 x18x 123 111
<LB>&Z 46,7202 x 18+ 123 561
olll =H| 200,000+ 1,000
o=&H| 50,000%63|*5H 1,500
OXtHsH|IBLE S 1,876,320& 1,877
J|12&l 17,198 17,198 0
IR 17,198 17,198 0
201 23| 9,698 9,698 0
01 AtR2teld] 9,198 9,198 0
Oget===H| 5,058
Oo2g=g 1,800
Oul=H| 720
O=&tl 1,620
02 3323H| 500 500
O3z & MM = 500
202 o8| 4,500 4,500
01 =UHOYI 4,500 4,500
ORN2E g2xz 4,500
203 HRF&H| 3,000 3,000
04 REA2IHRFEI 3,000 3,000
OASXAARL 2 3,000
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SA:

SYII=& NI =1

B SETCAIY BASH(SHHYSM/ 5L - S&
oe: sEXTI|EHES )
SA - ZH - C9I(3H) - HIRAI - B o Sl
=dJ|=2 KIAD|& 11,775,456 9,709,733 2,065,723
= 1,240,000
= 6,312,000
& 4,223,456
SEXNTAMY S5 =oiddt/ =Y - 5&) 11,554,925 9,499,39% 2,055,530
2 1,240,000
= 6,312,000
= 4,002,925
SEXEI|HE=E 10,041,150 7,453,145 2,588,005
= 510,000
s 6,312,000
= 3,219,150
Ied3s ASE 2F KA 300,000 100,000 200,000
= 300,000
403 XX HHMSKHE01& 300,000 100,000 200,000
= 300,000
01 AXISHMA=E R 300,000 100,000 200,000
Olsd=s A5E 23 Ad 300,000
= 300,000
SEXCI|B xS 7,574,400 4,745,000 2,829,400
= 6,312,000
= 1,262,400
403 XX HHMSKE01& 7,574,400 4,745,000 2,829,400
= 6,312,000
=S 1,262,400
01 AXISHMAE2EES 7,574,400 4,745,000 2,829,400
SEXNTI|B xS 7,574,400
= 6,312,000
= 1,262,400
KNS EAGAFI B RS (M EH) 1,527,500 1,788,800 300
403 XX SHHSKH20[& 1,527,500 1,788,800 300
01 RXISH A= B 1,527,500 1,788,800 300
OXSLEAS A BHE L (HE) 1,175,000
OXGesEts &=z |8y (TR 352,500
N2 MEssska(XIH) 106,400 105,875 525
2 108,400
308 RHXISHHISOIE 106,400 105,875 525
2 106,400
01 AXISMBAEERSZ 106,400 105,875 525
OXNESRE dE2sea 106,400
= 106,400
ANe=2Y MEszsk (YY) 75,800 74,800 ,000
37,900

o

37,900




SA:

sl

2 XJJ1=1

So SEICAY BASH SRS Y - mE
oYl SEXTI|HEE EEEED
S - HH - SRA(3H) - NRAY - BES 0l ko Sl HimE==}
201 Yer29| 26,300 20,000 6,300
= 13,150
[ 13,150
01 AFRZ2IH] 6,300 0 6.300
OXNEZRY HTASDSY| 1,500
= 750
= 750
OPYEX 93& DS 2,400
= 1,200
[ 1,200
ossiz2I2IH DS 2,400
= 1,200
[ 1,200
03 A2 20,000 20,000 0
OXNEBRY XRoL(EXSHS) 20,000
= 10,000
[ 10,000
202 01| 49,500 54,800 5,300
= 24,750
[ 24,750
01 =0l 17,100 15,400 1,700
OXNEBRY ZHsE =X 5,000
= 2,500
[ 2,500
OHSNTTS HEX 8,800
= 4,400
[ 4,400
OXNEZRY HBASDS 900
= 450
= 450
OJYN 3z 1S 1,200
= 600
= 600
ozl 1S 1,200
= 600
= 600
04 =I51018] 14,400 17,400 ~3,000
OXNE22 Ao+ DSV 14,400
= 7,200
= 7,200
05 222 DI 18,000 22,000 ~4,000
OXNEBPR &I|oH4 18,000
= 9,000
[ 9,000
SEXSAIY SE|SNE 2S X(XY) 61,700 61,000 700
= 61,700
308 XHXIEHHI S0IF 61,700 61,000 700
= 61,700
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SA:

=)= XD1&

Hu: SEXCAY BESH(SYHYSM/5Y - 5Z)
ool SEXCIINHEE (SH2l: &R)
2 5 SIE
RA - EHH - S(3H) - HIRAY - BAS 0 e SR HIDS2
P ER R =ES] 61,700 61,000 700
OSEZEAY 2245 X 54,000
= 54,000
OMsEEAS 29 T2 7,700
2 7,700
SEXENY SFIIEAE 2E NA(NT) 8,000 7,200 800
2 4,000
= 4,000
201 Br2Yy| 4,000 3,200 800
= 2,000
= 2,000
01 AFR2elt] 4,000 3,200 800
OSEZEAY 245 N 4,000
2 2,000
= 2,000
202 01t 4,000 4,000 0
2 2,000
= 2,000
ENE] 4,000 4,000 0
OSEZEAY 245 N 4,000
2 2,000
= 2,000
SEXSAY 2245 X2 328,700 86,000 242,700
308 RXISHHISOIR 68,700 66,000 2,700
01 HNSHINEES 68,700 66,000 2,700
OSEXETDR AAs X2 68,700
403 RXISHHISTH=0I & 260,000 20,000 240,000
01 AXISHINELE 260,000 20,000 240,000
OXISAIY 243 Jlgt £4 260,000
SEXNCAY SEX 11,350 25,350 14,000
203 QIR =ZIH| 5,850 5,850 0
CNEESSEEESL 5,850 5,850 0
OMIIEESAMLER 2443l 4,050
OYss 84 29 S 1,800
206 W=l 1,000 1,000 0
01 THZH 1,000 1,000 0
OHZESHZ BIHESY 2% BAMZ 1,000
301 LBHRFI 4,500 5,000 A500
CEICNES 4,500 5,000 2500
a0l AILION TH2CH AIEE 218t Ba 4,500
NESIEES 47,300 29,120 18,180
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SN SeIER KR
BE: SEXNCAY BESHSPHYLN/5 - 5E)

gl saseolsss o (sl a2)
SA - B - SI(S) - HTAR - BYS ol ¢4t 2as B2

A =sHoIAFTH 1,479,975 1,612,011 A132,036
= 730,000
= 749,975

das 54 A 324,000 312,500 11,500
= 324,000

308 RHXISHXISOIE 324,000 312,500 11,500
= 324,000

01 INSHEAEES 34,000 312,500 11,500
ORAE ST 324,000
= 324,000

ai= Mm@ B0 (R 90,000 90,000 0
= 90,000

308 AHXISHISOIE 90,000 90,000 0
= 90,000

01 AXSHMBAEEZ 90,000 90,000 0
O4s ARTR| B 90,000
= 90,000

Zas Agze] 2 EBIF X(2A) 34,000 34,000 0
= 17,000
< 17,000

201 LBt | 18,000 18,000 0
= 9,000
< 9,000

01 AtR2teld] 4,000 4,000 0
Oas AR L B} YuBH 4,000
= 2,000
< 2,000

03 A2 14,000 14,000 0
OZ4s BItg S = 14,000
= 7,000
& 7,000

202 Ot 3,000 3,000 0
= 1,500
& 1,500

NETGE] 3,000 3,000 0
ORAs N2l BEIISTE 3,000
= 1,500
& 1,500

301 LLEEZ 2,000 2,000 0
= 1,000
& 1,000

09 SHAAHIXIZEZ 2,000 2,000 0
O2As HE=) DEX 2,000
= 1,000
= 1,000
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SN SeIER KR
BE: SEXNCAY BESHSPHYLN/5 - 5E)

gl saseolsss o (sl a2)
A - FH - S9A(SH) - HISA - BYS ol ¢4t 2as HlDS2

303 ZAS 11,000 11,000 0
= 5,500
= 5,500

01 ZAa3 11,000 11,000 0
OLds H&=IF H0HEDIE 11,000
= 5,500
< 5,500

S0l SHEHH NR2Y XIJ(X) 14,400 12,600 1,800
= 14,400

308 XSSO 14,400 12,600 1,800
= 14,400

01 AXSHMBAEEZ 14,400 12,600 1,800
OsEXNEA 24 W= 14,400
= 14,400

seiol SEC DR2Y NH(XT) 3,200 6,800 3,600
= 1,600
= 1,600

201 LEt2 | 3,200 4,800 A1,600
= 1,600
& 1,600

01 Al 3,200 4,800 A1,600
OsgeXEx 54 3,200
= 1,600
= 1,600

=20l S5t WE2Y XA (4-Hsl/2E) 52,000 52,000 0
= 26,000
= 26,000

307 QI2t0| & 52,000 52,000 0
2 26,000
& 26,000

02 DIZFE Al 52,000 52,000 0
O4HE=2 DSNY 26,000
= 13,000
& 13,000
O4HLE W= 26,000
= 13,000
= 13,000

dE sgol ZMA [ 112,500 90,000 22,500
= 112,500

403 TXISHIS X201 112,500 90,000 22,500
= 112,500

07 RIS =2 E 112,500 90,000 22,500
Omu=elol 232 HD 112,500
= 112,500

=20l XNEX =4 K3(XH) 307,500 271,100 36,400
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SN SeIER KR
BE: SEXNCAY BESHSPHYLN/5 - 5E)

ciol syseolEgs o (ol @)
S B S9l(3) - HEAY - BaE of e 2as HIDS2
301 L& Z 9,000 9,000 0
= 4,500
< 4,500
09 SHAHIXIAS 7,000 7,000 0
OhHElR Sate] &I B 7,000
= 3,500
= 3,500
12 JIEt2 43 2,000 2,000 0
O+ BECHS) Al 2,000
2 1,000
T 1,000
S0l stEHH ZAESs KId 130,000 130,000 0
307 212H0| A 130,000 130,000 0
02 OB ANEEE 130,000 130,000 0
Osgol S5EH RS N 130,000
4H Ws AAL XA 17,480 18,200 ANT720
206 =4l 1,000 1,000 0
01 =4I 1,000 1,000 0
CEEEEE] 1,000
301 LLEEZ 6,480 7,200 AT20
09 SHAHIXIAS 6,480 7,200 AT20
O4-H3I2l L WAL HIHA+ 24t 2,160
O4-HORY % ZFCHE) BOMTF AL 4,320
307 212H01 A 10,000 10,000 0
02 DB ANEEE 10,000 10,000 0
Od4 4-HHat 10,000
TMtisgel 4329 |4 150,000 150,000 0
403 XX SA=01H 150,000 150,000 0
01 RXISHMR2E = 150,000 150,000 0
OTHMCHselol HE2 B4 150,000
S0 FESB RS XA 13,750 20,000 A6,250
= 5,500
& 8,250
201 Lereg 11,750 17,000 5,250
= 4,700
T 7,050
03 A2 ZEHI 11,750 17,000 A5,250
Osgol ¥23 2T X 11,750
= 4,700
& 7,050
301 L& Z 2,000 3,000 A1,000
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SN selE K98
Ha: SEXCAY B (SYHYS/5Y - SE)
SC RSB (Sl &)
2 5 SIE
RA - EHH - S(3H) - HIRAY - BAS 0 e SR HIDS2
= 800
= 1,200
12 JIEtR A 2,000 3,000 A1,000
Osolol HBat AR Al 2,000
2 800
< 1,200
AOISRI0l e-BIZLIA ASEE XI™(XIR) 48,600 45,000 3,600
2 48,600
308 RISHHISOIR 48,600 45,000 3,600
= 48,600
IR ELEREES! 48,600 45,000 3,600
O=210l e-HIZLA ASHE Xg 48,600
= 48,600
AOISRI0l e-BIZLIA ASEHE I/(RE) 32,800 36,000 £3,200
2 16,400
= 16,400
201 gk | 20,800 22,000 A1,200
2 10,400
= 10,400
01 AFR2elt] 20,800 22,000 A1,200
OME =0l S4 X2 20,800
2 10,400
= 10,400
202 018 2,000 4,000 £2,000
2 1,000
= 1,000
01 =LHOHH| 2,000 4,000 £2,000
OHE sl 24 2,000
2 1,000
= 1,000
206 W2l 2,000 2,000 0
2 1,000
= 1,000
01 = 2,000 2,000 0
OHT =0l |4 2,000
= 1,000
= 1,000
301 LBEHS 8,000 8,000 0
= 4,000
= 4,000
CEIENEE 8,000 8,000 0
OHT sl 4 X 8,000
= 4,000
= 4,000
EEETIEREBE 16,200 25,200 £9,000
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SA:

X ZH -
o=

SYII=3 XEJ=1

ciol syseolEgs o (ol @)
SA - B - SI(S) - HTAR - BYS ol ¢4t 2as B2
308 AXISHMSOIA 16,200 25,200 A9,000
01 AXSHMBAEEZ 16,200 25,200 A9,000
OFwsI=e 243 AlE 16,200
ES =gol TN S4(N) 36,000 3,000 0
= 36,000
308 AXISHMSOIA 36,000 36,000 0
= 36,000
01 AXSHMBAEEZ 36,000 36,000 0
OE=2Y sl ¢ K4 36,000
= 36,000
S5Y S0 ARZAN SH(HE) 8,000 12,000 24,000
2 4,000
T 4,000
201 23| 4,000 4,000 0
= 2,000
T 2,000
01 AtR2t2id] 4,000 4,000 0
OE=22 =0l DY 4,000
= 2,000
T 2,000
301 LEtEd3 4,000 4,000 0
= 2,000
T 2,000
09 SHAMAHIXIRZ 4,000 4,000 0
OE=g supl P29 DS X 4,000
= 2,000
T 2,000
dEoEss XA 17,840 16,611 1,229
201 Lereg 10,640 10,63 5
01 NS ZRIH 10,640 10,63 5
O4H 54 5,240
OsgdeNEx &4 5,400
202 o4l 7,200 5,976 1,224
01 =LHO4HI 7,200 5,976 1,224
O=LINENRYE YRET 3,600
O4HEE PEX 3,600
HY2AAH (=S I=& XIAJI= ) (IIEHDIE 220,531 210,338 10,193
ol 178,941 171,539 7,402
oA 2| 178,941 171,539 7,402
101 2124d| 178,941 171,539 7,402
03 RIHAZZRE = 178,941 171,539 7,402
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SN SIS K@D
A HHSAAHI(SYIIEV N/IIED) (IEHIIEH
CHel: ol EERED
S - B G9(3) - HRARY - BLS Of bk Sl HDE2
O32A(5%) 178,941
ollEs 2,211, 11035« 128 132,667
oXRHd+H 140,000 x5+ 122 8,400
0YZ LY 36,67021x52 122 2,201
0 ESIHI 2,211, 1103 +60%*5H +2 13,267
oH&EZZ2H 9,826& %1. 56 +60A[ 2t 4,422
SN 78,6102 x5« 18 7,075
otELY 4,080
GBI\ 40,0003 x3H+ 128 1,440
-2 20,0002 x2& 128 480
= 60,0003 3123 2,160
oAHASH| 469,080 *43]*3H 5,629
o= 0HI 50,0002 «4 & +63] 1,200
l=&H| 41,590 38,799 2,791
Jl=&Hl 41,590 38,799 2,791
201 B2 22,518 21,891 627
01 AFR2eltl 19,541 18,960 581
Oget=&H| 16,265
o3z 3,276
02 23234l 2,977 2,931 46
O2Z222 2 MM S 1,477
OAIEZHIs X 1,500
202 Odd| 8,872 7,308 1,564
01 =401t 8,872 7,308 1,564
24 BEYR =X 8.8r2
203 HRF=4| 10,200 9,600 600
01 J| 22 PR8I 6,600 6,000 600
OJlsne= 2% 6,600
04 RASALREAL] 3,600 3,600 0
OxglIEn 2 3,600
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FA sl Jls2s
N Y J=E2S(sEHiesb/sd - 55
CHol: DBA AZOIEMA J|E2Z (ol m2)
2 5 SIE
DA - HH - S(B) - MRAY - BAS 0 e SR HIDS2
selI=d D=2 8,149,340 8,497,334 A347,994
= 5,566,050
s 373,500
Il 41,290
& 2,168,500
HASY JIEES (sl /Y - 58) 8,028,060 8,379,898 /351,838
= 5,566,050
= 373,500
Jl 41,290
= 2,047,220
DEE AN JsEg 3,964,380 3,693,634 270,746
= 3,101,800
Jl 41,290
s 821,290
s2 A& Alg(AlZD|E) 1,377,250 1,574,000 196,750
= 1,377,250
403 AXISHHSA=Z01H 1,377,250 1,574,000 A196,750
= 1,377,250
01 XXM A= E XL 1,377,250 1,574,000 A196,750
OANER=Z0F A ISESAY 1,377,250
= 1,377,250
sH=E Hois LAl X2 776,000 761,000 15,000
= 776,000
308 AFXIEtHISOIE 776,000 761,000 15,000
= 776,000
01 AXHHIMEERS 776,000 761,000 15,000
Ogais &Hel X3 776,000
= 776,000
sAE dolis ada 28 XNJ(K) 157,000 157,000 0
= 157,000
308 MXIHHSOIH 157,000 157,000 0
= 157,000
01 MXSHHESEXES 157,000 157,000 0
Ol goig dta 29 157,000
= 157,000
s&2 golis dty 29 XN (2F) 16,000 3,000 13,000
= 8,000
& 8,000
201 k2| 16,000 3,000 13,000
= 8,000
= 8,000
01 A2l 16,000 3,000 13,000
Odais dda 24 16,000
= 8,000
& 8,000
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SA: seDIE Jlse3n
. HEBH J|EES(SEHLMY/5Y - 5E)
ool DEX AYOIHMA B2 (SH9): &)
S - ZE - BRI(3]) - ARAY - BAS 0 bt Sl HimE==1
SN2 HolE 2T 2 X 37,050 37,060 0
2 37,050
308 RXISHHISOIR 37,050 37,050 0
= 37,050
01 HNSHINEES 37,050 37,060 0
Ogols 2L 29 37,050
= 37,050
2OI2RIEHE Y 2 90,000 0 90,000
2 45,000
= 45,000
101 21218 40,000 0 40,000
2 20,000
= 20,000
04 IRIH22NEES 40,000 0 40,000
OYHE JAZER 24 40,000
2 20,000
= 20,000
201 UBr2y| 26,000 0 26,000
2 13,000
= 13,000
01 AFR22lH] 20,000 0 20,000
OYHEr AlRR2IH| 20,000
2 10,000
= 10,000
02 22| 6,000 0 6,000
OgHE ZZ2H| 6,000
= 3,000
= 3,000
206 W2l 24,000 0 24,000
= 12,000
= 12,000
01 T2 24,000 0 24,000
OYHEr HEYI 24,000
= 12,000
= 12,000
2DI2RIEHE YRS 2Y(XR) 180,000 0 180,000
= 180,000
308 RXISHHISOIR 180,000 0 180,000
= 180,000
PG ERErEESS] 180,000 0 180,000
O=Jr22IEiE YHE 2SN 180,000
= 180,000
SAS OEEAN 29(XI) 500,000 0 500,000
= 250,000
= 250,000
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SN s Jz23
I S J=E2S(sHidxb/ 5 - s&)
CHel: DEE AZOIEMA J|2E3 GECE-ED
5 . SJE]
2 - B - BR(ED) - IRAR - BES of e Sieion HIDS
308 AFXIEtHISOIE 500,000 0 500,000
= 250,000
< 250,000
01 XM ExES 500,000 0 500,000
OsttE NEAs 29 500,000
= 250,000
= 250,000
SEEHM(ELATY) 2 XA (XY) 255,000 287,000 232,000
= 255,000
308 MXIHHSOIH 255,000 287,000 /32,000
= 255,000
01 XM ExES 255,000 287,000 232,000
Osgddd 29 255,000
= 255,000
SEELAM(ESZTY) 2 N (HY) 33,000 50,000 217,000
= 16,500
& 16,500
201 k2| 9,000 16,000 7,000
= 4,500
= 4,500
01 AtR2tel| 9,000 16,000 A7,000
OSgddd gelus 24 9,000
= 4,500
& 4,500
202 O 18,000 18,000 0
= 9,000
& 9,000
01 =LY 10,000 10,000 0
OSeddd2d JleXd 10,000
= 5,000
& 5,000
03 =2IP204Hl 8,000 8,000 0
OsZEEF2 2clols S 8,000
= 4,000
= 4,000
206 =4l 6,000 16,000 210,000
= 3,000
= 3,000
01 =4l 6,000 16,000 210,000
OSEZEERNE e+ 6,000
= 3,000
= 3,000
AxZ2Z HEZH N(ELAT) 41,290 41,290 0
Jl 41,290
308 AFXIEtHISOIE 41,290 41,290 0
Jl 41,290




FA sl D=2
Hu: HYEA )IEES(SYHYH/5Y - 5E)
CHo: DBA AZOINMA J|E2Z (SH2l: &R)
S - - S9I(3) - HRAY - BaS oo Sl HIDE2
01 XM ExES 41,290 41,290 0
OMASSHHNTSAIY EL2A 41,290
Il 41,290
LS NMEHE JIsEe 162,000 312,000 A150,000
403 AXIEHSAH=01& 162,000 312,000 A150,000
01 MHXISHAZE X 162,000 312,000 A150,000
OH AZE SAHA AlE 45,000
OdLHl 2 B AATHHE Al 72,000
OEXE dEeAl 2 H3 AlE 30,000
ORgR g8 170t ey Ag 15,000
sH=E dois ZEYM JleEs 252,600 269,500 A16,900
308 AFXISHHISOIE 212,400 157,500 54,900
01 AXHHIMEERS 212,400 157,500 54,900
Qeh-HAENE MBS OIE LM 2 27,000
OH doliE ssYALl X 185,400
403 AXISHHSA=Z01H 40,200 112,000 AT71,800
01 AXIEMA=2Ex 40,200 112,000 AT71,800
OHLell zatd gl Al 16,200
O=2aliE zatd Ml Mg 24,000
tEd =g JleEs 39,600 137,000 A97,400
308 REXISHHISOI& 21,600 27,000 ~5,400
01 XM ExES 21,600 27,000 5,400
Ozed RIIsIX LdEUF 21,600
403 TR IS AH=01A 18,000 110,000 A82,000
01 AXISHt=EE 18,000 110,000 282,000
OAlHIEE e B s Al 18,000
ARz JlsEs N 9,160 9,230 AT0
206 XH2b| 8,530 8,530 0
ER] 8,530 8,530 0
OAMEHE M E XX 4,030
Odoisate us & A3 4,500
301 LEEdS 630 700 AT0
09 HAAHIXIE = 630 700 AT0
OAgH= AAl & ot B4 24 630
HEE =8 Jl=2a X 2,070 2,300 A230
301 EE2dS 2,070 2,300 A230
09 MALBIXIE S 2,070 2,300 A230
Ozled sgAIg o & BiXIorRd 2,070
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SN S@IER )E23n
I HITH )IERI(SRHYLN/5Y - 52
SPl: DEM AZOEMA )|S22 EERED
SA - FH . o2(3]) - HIRAY - B 0 ol Sl HIDZ2
AENE 2N 36,360 33,264 3,096
201 LeH=2E| 28,010 25,614 2,3%
01 AFR2elt| 23,960 21,564 2,39
Oget=EH| 13,600
Onl=Hl 2,000
O=gH| 3,360
ogxz 5,000
02 3224l 4,050 4,050 0
OAIZ &Il 4,050
202 04l 7,000 6,300 700
01 ZLHOAYI 7,000 6,300 700
OseleEs Yess 7,000
203 & R=&l| 1,350 1,350 0
03 AIMFAHR =L 1,350 1,350 0
SEEEEINETEESS 1,350
20Dl= D= B3 2,350,260 2,886,908 A536,648
= 1,485,000
< 865,260
A ADER SEXYFHH 2F(HE) 12,960 24,640 211,680
= 6,480
S 6,480
202 04l 12,960 18,600 25,640
= 6,480
S 6,480
01 =LHOAYI 4,960 10,000 A5,040
OADIER BFIIEN2Y 4,960
= 2,480
S 2,480
03 =20l 8,000 8,600 2600
OALIEE J=dEZus 8,000
= 4,000
= 4,000
oY ANEE FHNAME 2I(NR) 83,520 87,680 4,160
= 83,520
308 AFXIEHHISOIE 83,520 87,680 24,160
= 83,520
01 AXIEMEAEES 83,520 87,680 A4,160
OADIEE SEXAME KR 83,520
= 83,520
= oEdee dibs 28 48,000 38,000 10,000
403 XIS H=0l& 48,000 38,000 10,000
01 XISHA=ZE X 48,000 38,000 10,000
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SA:

X‘IiH:

sdJIsd JIsEs
SRS JIEEE.‘ =
e 28

=9 doDl= (Sl &)
SA - B - SRI(EH) - AIRAY - BaS oj v G HIDE2
OUFNERSD 22 ABAY 24,000
OSTINAN oHFEt BESE VSHE)| 23 24,000
JISHet IS OfE0H AST ©2 AlE 60,000 200,000 140,000
403 XX RIS XH=0/ 60,000 200,000 140,000
01 ARSI =S % 60,000 200,000 140,000
OJISHs S otE0) ASDS &2 60,000
=9Iz A2ns K () 8,000 6,000 2,000
2 4,000
= 4,000
201 Yoty 4,000 4,000 0
2 2,000
= 2,000
01 AR Z2IH] 4,000 4,000 0
OS2l M2DS YAE S 29| 4,000
2 2,000
= 2,000
202 01H| 4,000 2,000 2,000
2 2,000
= 2,000
01 =LH0T0] 4,000 2,000 2,000
Osgllz H2ns 22za 4,000
2 2,000
= 2,000
S9 DI A (R0DIZ20H) 1,199,000 1,096,000 103,000
2 1,199,000
408 KX EHHIS K201 & 1,199,000 1,096,000 103,000
= 1,199,000
01 NISHRITEDE 1,199,000 1,096,000 03,000
OO &J1Z 22 1,199,000
2 1,199,000
SeQIks 2 (R0H) 20,000 14,000 6,000
2 10,000
= 10,000
201 Yoty 12,000 6,000 6,000
2 6,000
= 6,000
o1 A=zl 2,000 6,000 6,000
Osgioinist AAR S 22| 12,000
2 6,000
= 6,000
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201 UBr2y| 80,000 110,000 230,000
2 40,000
= 40,000
01 AFR22lH] 20,000 20,000 0
OJIBAE IBIY JI&XI 20,000
2 10,000
= 10,000
03 AL b 60,000 90,000 £30,000
OJIBAE A2 HAKI 60,000
= 30,000
= 30,000
202 01t 10,000 0,000 0
= 5,000
= 5,000
ENE] 10,000 0,000 0
OFYTE, WS S Il 10,000
= 5,000
= 5,000
301 LBBHI 10,000 0,000 0
= 5,000
= 5,000
09 SAAHINES 10,000 0,000 0
ORSHAL BHT 24 10,000
= 5,000
= 5,000
SNSEEIIEIIE 130,000 0 130,000
EERE
2 130,000
403 RXISHHISTH=0I & 130,000 0 130,000
= 130,000
0T AR SAREEE 130,000 0 130,000
OSA2BEIIBIIE XA &N 130,000
= 130,000
=xel TsHolE 5,000 0 5,000
201 UBr2y| 5,000 0 5,000
01 AFR22lH] 5,000 0 5,000
OsHY A2 2 5,000
sER ASs 2,068,600 2,009,380 59,220
= 558,000
= 25,000
= 1,485,600
SADISAB(MBI|Z) 440,000 205,000 235,000
= 440,000
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SN:
X‘IiH:
L_,|-0|:

=)= sENH W
==s ¢ o

=S

sEAE 253t

o
>
T
o
i
v
%
0
£
P
o
8%

S - ZE - BRI(3]) - ARAY - BAS 0 bt Sl HimE==1
403 RHXISHHIS RH=O0I & 440,000 205,000 235,000
= 440,000
IPE RS 440,000 205,000 235,000
OXR=YSS Al 140,000
= 140,000
OSMI S=8 JI&XI 200,000
= 200,000
Os& SN MBS Al 100,000
= 100,000
SoItis 2 KR (SEXRAD) 36,000 30,000 6,000
2 18,000
= 18,000
201 LBr2 | 18,000 12,000 6,000
= 9,000
= 9,000
01 A2l 8,000 2,000 6,000
Osgoltist 29 18,000
2 9,000
= 9,000
202 01t 4,000 4,000 0
2 2,000
= 2,000
ENICE] 4,000 4,000 0
OsQI0st BXIIEXI 4,000
2 2,000
= 2,000
206 Mzl 10,000 10,000 0
2 5,000
= 5,000
01 W24l 10,000 0,000 0
OsgoItist ASHE 10,000
2 5,000
= 5,000
301 LBHRFI 4,000 4,000 0
2 2,000
= 2,000
CEICIIES 4,000 4,000 0
OsQItHet &HT B4 4,000
= 2,000
= 2,000
SEO S AT ALY (HE) 812,500 845,000 32,500
403 RXI SRS KH=0I & 812,500 845,000 A32,500
01 IXISHNEEE 812,500 845,000 32,500
SENSUSTAMAIY(HE) 625,000
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2A: s SEXNA
HE: SENAER 17 U J2 B2 (sHLSA/ 5D - 55)
e sENY ASE (S H)
SA -3 - S(3H) - MRAY - BES Ol kX 0&;&& Hns2
‘ OSZE0SASXAMAIH(ZHIRE) 187,500
SENY JIe&E ASS MY 12,000 60,000 48,000
308 RHXISHHISOIA 12,000 60,000 48,000
01 RXISHHZAE XS 12,000 60,000 48,000
SE0S JIEHE ASE AY 12,000
SENSEUS 16,970 17,490 A520
206 THEH 12,290 12,290 0
01 THEH 12,290 12,290 0
O0l&sgol M2Ws ASHE 7,290
OAHIR L NSSE AN 3,000
OsELQ ISHES L 42| 1S 2,000
301 YBHEHS 4,680 5,200 A520
09 SAFAHIXIRS 4,680 5,200 A520
OsZ=ME25ts ZAT BA 4,680
SENASE 291 59,130 54,890 4,240
201 LBH29H 23,750 21,730 2,020
01 At22t2IH| 19,200 17,280 1,920
OYBtgH| 4,200
oY +¢ 10,000
ouxtz 3,000
OFEE] 2,000
02 3229 4,550 4,450 100
OAAZEHl X 4,550
202 0{t] 9,000 8,100 900
01 =LHOIH] 9,000 8,100 900
O=2LH0H| 9,000
401 AlEHIL SO 26,380 25,060 1,320
01 AlZH] 26,380 25,060 1,320
SEMS25 Y CSASTH WAL 26,380
AW FHel IR0 Mg AlY 3,000 0 3,000
308 RHXISHHSOIA 3,000 0 3,000
01 RXISHHZAEES 3,000 0 3,000
OAHNE T2 N AlY 3,000
AHIMsY 84 6,000 45,000 39,000
308 XHXISHHISOI& 6,000 45,000 A39,000
01 XSHHZAEES 6,000 45,000 239,000
OAHIXI= 2435 AlY 6,000
HE25 SH(HE) 36,000 45,000 9,000
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SA:

sel=d sENEY

I SENVUES 67 U )% 2S(STHYLN/5Y - 58)
ool =&Y ASs) GECEED
5 . SJE]
SA - FHH - S9I(BIH) - KIRAR - BES 0l b SR HIDE2
307 QI2t0| & 36,000 45,000 29,000
02 QIRHAAAIIE X 36,000 45,000 29,000
O SHE s 29 18,000
OssussE 243 N2 18,000
HSA2et HEsEs K3 50,000 50,000 0
= 25,000
& 25,000
101 1244 7,220 6,848 372
as 3,610
& 3,610
04 J12tHI2E2 S ES 7,220 6,848 372
OdS AE3 Hsgs us 2X 7,220
ollE= 68,7203 *28L 3B+ 1 5,773
s 2,887
= 2,886
orasgsiteY 310
s 155
= 155
odXtRER It 207
s 103
= 104
0EEFIHI 200
s 100
= 100
028z S 730
s 365
= 365
201 LEt2FH| 16,000 16,000 0
s 8,000
== 8,000
01 ArR2teld] 16,000 16,000 0
OFSA2s HSES 1 2Y 16,000
2 8,000
< 8,000
202 o4t 6,000 6,000 0
s 3,000
< 3,000
01 =LHOYI 6,000 6,000 0
Oxtaaz 6,000
2 3,000
< 3,000
206 =6l 6,500 6,500 0
s 3,250
< 3,250
01 =4l 6,500 6,500 0
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Py

=

2N s)I=d sEAE
M SENZESR o7 2 D= B (sl 58 - =5)
& sEXNE ASF (=S
5 . SJE]
SA - BB - B9(3]) - NIRAMY - BAS 0l abo SR ime—=T
OusNzE 7 6,500
s 3,250
L= 3,250
207 AN 9,500 9,500 0
s 4,750
L= 4,750
01 A EHH| 9,500 9,500 0
OTSA2AS A+ e ES 9,500
s 4,750
< 4,750
301 LEtBE S 3,200 3,200 0
sy 1,600
< 1,600
09 SHAtAHIXIZZ 3,200 3,200 0
Ous &I SAH3 3,200
sy 1,600
< 1,600
405 XHAHESHI 1,580 1,952 AZ72
s 790
& 790
01 ML SSF S| ,580 1,952 A372
Ous J|7 2¢ ,580
s 790
& 790
esd |4 JI=X2 AlY 210,000 300,000 290,000
403 XX HHMSKHE01H 210,000 300,000 290,000
01 AXISHt=EE 210,000 300,000 290,000
Oxlssg =4 JI=XE Alg 210,000
SHEE =HEE 207,000 245,000 A38,000
403 XXX SAH=0& 207,000 245,000 A38,000
01 AXIEM A= 207,000 245,000 A38,000
O=ENE 32t S8ZIHE AlY 30,000
OsZEusss sS4 AlY 99,000
OsEF0UTHE A6 48 =8 Al™ 78,000
ST AST RERE(XH) 100,000 0 100,000
= 100,000
403 XX SHHSKH20[& 100,000 0 100,000
= 100,000
01 AXISHMA=E xR 100,000 0 100,000
SAZSAE AST 22 2F 100,000
= 100,000
SENg2Z HESRD 843t 18,000 0 18,000
308 XXIEHHISOIHE 18,000 0 18,000
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2A: s2)I= sENEDL

Hy: SENAEE 07 U JlE ES(SPHYLN/S5Y - 55)

ciol: =ENE ASsh ST T (22l @8)
S - ZH - BRI(3I) - HIRAR - BAS ol &k G e
01 AXIEMBAEES 18,000 0 18,000
sENERE UEYD 283 18,000
SEARS MEHE I 12,000 0 12,000
308 KIXIEHHSOIA 12,000 0 12,000
01 AXICHIZA DA 12,000 0 12,000
OmEASS MR Ny 12,000
Xo BEe A sENETZ I8 g (Fea0) 50,000 0 50,000
308 XXIEHHISOIH 50,000 0 50,000
01 AIXIEHBAEES 50,000 0 50,000
Ofte M0z S0f 50,000
=42 018 Jlg o+ 189,159 407,493 A218,334
s 30,000
= 159,159
IR BE 0z Jls aRKE 22,000 21,848 162
101 212t 7,000 6,848 162
UBIEEEIN=IES 7,000 6,648 162
ONBEH 0j2I)% GPK 7,000
oJlEes 68,7203 *26 L x3E 1Y 5,361
oRZEYZRIY 310
KR DEI T 207
oBEEIIY 200
ol=k=]=2 922
206 M= 4| 3,000 0 3,000
01 =4l 3,000 0 3,000
OsdMzZ IIBMzE 2 3,000
207 AN 12,000 15,000 23,000
03 Al 21| 12,000 15,000 23,000
OZ4a A & =XIR 9,000
OBBNRIIZINL Al S 3,000
SHE 01897 2GR 67,159 67,159 0
201 B2 61,648 61,648 0
01 AFR2eltl 13,450 13,450 0
Oget==2d| 12,550
Oo2g+g 450
Onl=l 450
02 S22 48,198 48,198 0
OZze3 2 A 24,204
O =H| 5,904
OAIEEHIR XL 18,000
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SN:
X‘IiH:
L_,|-0|:

S - FH - BI(E) - HIRAR - BaS LD Sl B2
202 Oid| 5,511 5,511 0
01 SLHOHI 5,511 5,511 0
OZe=A SXAE EF 5,511
sy A 018 Jl= Heg 35,000 31,245 3,755
101 21244| 15,000 11,245 3,755
04 JIR2HMIZ22XsSE 15,000 11,245 3,755
OJIsE4M Ol D=y 15,000
oJlEs 68,7203 x27 L6 1Y 11,133
oRERLrE 1,237
odXtRERII=+E 413
0 ESIHI 200
BEE S 2,017
206 M= 4| 3,000 0 3,000
01 =4l 3,000 0 3,000
OJlsdLM Mz 3,000
207 AN 17,000 20,000 23,000
03 Al 2| 17,000 20,000 23,000
OAIE & =H| 17,000
oS4z 248 ZE Y 8,000
oJISEAZIHE AlSf & ARSE Y 9,000
253 sS4 JIEBE Y 35,000 31,241 3,759
101 21Z44| 15,000 11,241 3,759
04 JI”2HMIZ2Z2XsSE 15,000 11,241 3,759
OASst =433 WY 15,000
oJlZ2s 68, 720327 L6 1Y 11,133
oRERgrd 1,237
o RERI=E 413
oHEFIHI 200
o2EE S 2,017
206 =4I 3,000 0 3,000
01 JH=ZHI 3,000 0 3,000
OXHEL=E NE, IIZ, AEME 3,000
207 AN 17,000 20,000 23,000
03 Al 24| 17,000 20,000 23,000
OXGELA S48 AIFH 2| 17,000
0JIBAIEE ARSE 5,000
oM EASFHETEFS 2 2,000
oJtEE4A Al & EXF 10,000
KNASSIESI =ML (028 070 30,000 30,000 0
s 30,000
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FA s2l=d sEANRAD
Y SENAVE 47 U 2 PS(SYHYSN/5Y - 5&)
Hel: s&tE 018 Vs o (el &)
SA - HH - S9I(E) - AIRAY - B of ke Sl HIDS
101 el24H| 14,000 14,000 0
= 14,000
04 DI N22 NS e 14,000 14,000 0
OO0t ISSHE =N AEES Ex 14,000
== 68,7202 *27 L+6@x 18 11,133
= 11,133
orEsdIdEsrd 619
= 619
ot FERIITE 482
= 482
0B &SIt 200
= 200
0E8E S 1,566
= 1,566
202 04 5,000 5,000 0
= 5,000
01 2LHOHI 5,000 5,000 0
OD7ROF 23 AW =7 of| 5,000
s 5,000
206 MH=HI 7,000 7,000 0
= 7,000
01 =4l 7,000 7,000 0
OO0 6XHIR JIZENL WY 7,000
= 7,000
207 A-RE| 4,000 4,000 0
o 4,000
03 Al et2H| 4,000 4,000 0
ODT0H 6IIAIY JEBENL AR, =X, A%
222 S 78 4,000
o 4,000
J2LZH(sHI 1= sEN D) (OIEHIIE 292,945 274,162 18,783
=l 278,007 262,883 15,124
e 278,007 262,883 15,124
101 el24d| 278,007 262,883 15,124
03 RIIHSZ2 N E = 278,007 262,883 15,124
OIH%22L 24 278,007
= 205,317
(Oh&Z 2,432, 750368+ 123 175,158
(Lh&az 2,513,170~ 1&8«123 30,159
oARI =& 10,875
Oh&Z 87,3716 2«18 9,437
(Lh&Z 89,8732 1816 1,438
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SN SeIER SENED
B3 HHSAAH| (S| &) OIEHIIEN
c9l: olz2] (el &8)
SA - B - () - IRAY - BaS 0 st Sl HIDE2
EEEE 11,520
On=z 140,0002156 24 122 10,080
(Lh=Z 20,0002 124128 1,440
o EEIH| 20,532
On=Ez 2,432, 75021+0.6+25] 46 17,516
(Lhaz 2,513, 17020+0.6+23] 1% 3.016
[N 6.240
(ON=Z 5,760
-2 Xt 40,0002+324+ 122 1,440
20 20,0002542 122 960
LV 20,0002/x324 122 720
ST 60,0002%22+ 122 1,440
L NE 100,000% 124122 1,200
(Lh=z 480
29 20,000245224 122 480
oFELY 3,000
On=z 50,0002!%424x 122 2,400
(LhEz 50, 000124122 600
0UBBHLY 4,004
Oh=z 3,442,320 3,443
(LH =2 560,640 561
EHEERS 3,819
Oh=z 16,3822 6258 AI2H 15 11,79
(Lhaz 16,8512+ 1248AI2h 152! 2,023
004t 2,500
Oh=z 2,000,000 2,000
(Lh=2 500,000 500
oIl =H| <LPEIR 200,0002+1% 200
SIEET 14,938 1,279 3.650
IR 14,938 1,279 3.650
201 2er2 | 5,424 5,167 267
01 AFR2t2IH] 5.424 5,157 267
Ogprrgt| 3.576
ozt 1,848
202 01t 5.914 2,522 3.302
01 =LHOTH] 5.914 2,522 3.3
Ollzee 3 5.914
203 YR 3,600 3,600 0
04 RASIYREY 3.600 3.600 0
OsZXn 29 3.600
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D =80|=% Olisgust
=
=

9
>
1
>
e
A0
0
i

)

slsus 29 Eel &)
x 5 S[E -
SA - B - S9l(3) - KIRAY SR HIDS2
201 k2| 101,661 86,661 15,000
01 A2l 101,661 86,661 15,000
OuMHM= S &ete==t| 9,661
Oo=2g=g 82,000
Otz 10,000
206 MH=HI 5,000 6,000 21,000
01 =4l 5,000 6,000 21,000
Ousds Mz+e 5,000
301 EEdS 19,800 22,000 A2,200
09 HAAHIXIE = 19,800 22,000 A2,200
OUWsH =48l 19,800
dRsgel JIxZEsIIsn=s 40,000 95,000 /55,000
= 20,000
= 20,000
201 er2E| 28,000 63,000 /35,000
= 14,000
= 14,000
01 At22tel| 28,000 63,000 /35,000
OuMMA S eS| 5,000
= 2,500
= 2,500
Oo=2g=+g 22,000
2 11,000
= 11,000
OXtefARt 1,000
= 500
= 500
202 O 2,000 4,000 22,000
= 1,000
= 1,000
01 ZLHAYI 2,000 4,000 22,000
Ous =& 0l 2,000
= 1,000
= 1,000
301 2= 10,000 26,000 216,000
2 5,000
= 5,000
09 HAIAHIXIES 10,000 26,000 216,000
Ousd g4l 10,000
= 5,000
& 5,000
ARsl(ASFHE) JI=EsI=n=s X 92,500 140,000 247,500
= 92,500
308 MHXIHHSOIH 92,500 140,000 247,500
= 92,500
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SH: Se)zd USRS
mE: Dzl B2 S0l 8

ool seblsms 22 (sl a2)
S - B RI(30) - HIRAKY - BES o4k G HlmS2t

01 AXSHMBAEEZ 92,500 140,000 247,500
Oblsgel s 92,500
= 92,500

ARsgol(AsAHE) 8 A5us K 330,000 405,000 A75,000
= 330,000

308 RHXISHXISOIE 330,000 405,000 75,000
= 330,000

01 AXSHMBAEEZ 330,000 405,000 A75,000
O8E Asus XA 330,000
= 330,000

HsEHE S KA 103,000 180,000 AT7,000
= 30,900
& 72,100

201 LBt2 | 8,000 34,000 A26,000
= 2,400
& 5,600

01 AtR2teld| 8,000 14,000 26,000
Ogpt===H| 2,000
= 600
& 1,400
Oo2g=g 6,000
= 1,800
& 4,200

202 o4l 1,000 5,000 24,000
= 300
= 700

01 =04 1,000 5,000 24,000
OA=EHEAs HREFE S| 1,000
= 300
= 700

301 L& Z 3,000 6,000 A3,000
2 900
& 2,100

09 AAHIXIZZ 3,000 6,000 A3,000
ORSM S| 3,000
2 900
== 2,100

307 2I2t0| & 90,000 130,000 40,000
= 27,000
= 63,000

02 QIRHAAAIAE X 90,000 130,000 A40,000
OAsHABHS OulZAa sy X2 90,000
=2 27,000
< 63,000
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A =22 OidisSusH
PSpE m§§A|m =olol S

U SgeC

ool SIS NS 29 (el B 8)
S - E - SRI(SH) - AIRAR - LS o8y Sl HimE=T

405 XHAHE S| 1,000 3,000 £2,000
2 300
= 700

01 AL SBHSH] 1,000 3,000 £2,000
OFsZYNSL Byl Y 22 7Y 1,000
2 300
= 700

ASEABHS NBAL(XIR) 80, 100 63,000 17,100
= 80. 100

308 XHXIEHHISOIH 80. 100 63,000 17,100
2 80,100

01 X SHHBLEES 80,100 63,000 7,100
ONZ AsHLeHs Xa 80. 100
= 80. 100

s2JlE H20S N (1HsLnS) 101,200 101,200 0
2 101,200

308 XHXIEHH SOI 101,200 101,200 0
=2 101,200

01 X SHHBLEES 101,200 101,200 0
Osgol Hens 101,200
SSEEEpIEamE 38,200
=2 38,200
SMIE=EvlEamEs 63,000
2 63,000

solls 2% X8 181,000 181,000 0
=2 181,000

308 XHXIEHH SOI 181,000 181,000 0
= 181,000

01 X SHBAEES 81,000 181,000 0
ONZ sgoltyst =2 181,000
=2 181,000

sl Agn 60,000 70,000 210,000

308 XHXIEHH SOI 60,000 70,000 210,000

01 RXSHBAEES 60,000 70,000 10,000
OAI2 Molseie! 60,000

AIIEEY DAY 786,654 92,193 A175,539
2 114,800
= 671,854

ATEC 268,230 272,660 £4,430

201 Ler2a| 228,360 228,360 0

01 AR 22/ 54,360 54,360 0
OgergH| 49,500
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SA:

=)= Oli=Zu=s
S M
=S

Zo: IS W2 S0 SH(SYHYN/5Y - 55)
SRl olel ADISEY DEAKY (Sl ®2)
2 5 SIE
S - E - SRI(SH) - AIRAR - LS o8y SR HimE=T
oEZE A S 4,215
O&2It ZA==E 18,000
202 Odd| 5,690 5,690 0
01 =LHOAYI 5,690 5,690 0
o2l s DS Y 5,690
SEXST JIBEH(ATEC AIADIBIRE) 10,000 0 10,000
401 AlEHIZLSOHY] 10,000 10,000
01 AI&H| 10,000 10,000
OATEC A0IEE NEE 24 AIEHA 10,000
s80|s d2us XNJ(HANMEIH ZLHWS) 100,000 100,000 0
= 50,000
= 50,000
301 Et2d =S 100,000 100,000 0
= 50,000
= 50,000
07 2BI=F0H| 35,000 35,000 0
O==0F oHAMZIH =F LI 35,000
= 17,500
= 17,500
09 ALK& S 65,000 65,000 0
O=UR0F HAMSI} LASY L S| 65,000
2 32,500
= 32,500
=90z H2NS N (IXsYIIs 0 82) 29,600 29,600 0
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